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1. Tamoxifen

2. Alemtuzumab

3. Paclitaxel
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(15%) ‘

1. Pyridostigmine

2. Bisoprolol

3. Cetirizine
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1. Explain the following terms. (20%)
a. Inverse agonist
Clearance
Prazosin
Argatroban
Selective estrogen receptor modulator
Fluroquinolones
Latrogenic Cushing’s syndrome
Eplerenone
Use-dependent blockade of ion channels
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Ranozolazine
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2. Compare the pharmacology, toxicity and clinical use among aspirin, acetaminophen and
ibuprofen. (10%) ‘

3. Compare Class 1A, IB and IC anti-arthythmic agents. (10%)

4, Describe the mechanisms of drug resistance observed during cancer chemotherapy. (10%)




